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APPENDIX E 
 

Sample Question for Entrance Test for B.A. /B.Com. LL.B (Hons.) 5 years 

Integrated Course 

The admission to B.A. LL.B/B.Com. LL.B (Hons.) 5 years Integrated Course shall be based on the 

merit prepared on the basis of total of 50% marks obtained in 10 +2 examination and 50% marks 

obtained in the Entrance Test 2022 conducted by the Panjab University. The paper will consist of 100 

questions of one mark each. The distribution of marks for the respective areas of Testing would be as 

under:  

General Knowledge & Current Affairs : 60 questions 

Aptitude for Law : 20 questions 
Mental Ability : 10 questions 

Proficiency in English Language              : 10 questions 

25% marks will be deducted for every wrong answer. Total time to be allocated to this paper will be 90 

minutes. 

Sample Paper:  
General Knowledge and Current Affairs: 

1. Laws of gravitation were proposed by 

 (A) Newton   (B) Edison 

(C ) Madam Curie   (D) Archimedes 

 

2. Printing for the blind was invented by  

(A) Benjamin Franklin  (B) Louis Braille 

 (C )      C.V. Raman             (D) Jagdish Chander Bose 

3. The first revolt for India‟s independence, also called the Sepoy Mutiny took place in the year: 

(A) 1848    (B) 1857 

 (C )        1757    (D) 1856 

4. Which state in India shares border with maximum number of other states: 

(A) Madhya Pradesh  (B)  Rajasthan 

 (C)        Uttar Pradesh   (D)  Bihar 

5. Which of the following is not Union Territory: 

(A) Lakshdweep   (B) Manipur 

 (C )        Delhi    (D) Chandigarh 

6. AIDS stands for: 

(A) All India Doctors Society  

(B) Acquired Immunity Deficiency Syndrome 

(C) An International Disease Society      

(D)  All India Dental Society 

7. In which city is the headquarters of U.N.O. located : 

(A) Rome    (B) New Delhi 

 (C )        Paris    (D) New York 

8. The first battle of Panipat was fought between: 

 (A)Babar and Ibrahim Lodhi   (B) Humayun and Sher Shah Suri 

 (C )Akbar and Hemu   (D) Alao-ud-din Khilji and Mohammod Tuglak 
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Aptitude for Law: 

9. Choose the correct term for : Affidavit 

(A) A certificate   

(B) A statement on oath for use as evidence in law 
(C) A mark sheet  

(D) An application for bail 

 

10. Choose the correct term for: Court Martial 

(A) A military court to try persons under military law 

(B) A court established by the state 

(C) A court to decide marriage disputes 
(D) Sentence to imprisonment 

 

11. Choose the correct term for : Coma 

(A)  Used for letter writing      (B) Used in writing to separate two parts of a sentence 

(C) Complete loss of consciousness   (D) State of disturbed mind 

 

Mental Ability  

Directions for Q. No. 12-14 

Amit is son Rahul. Sarika, Rahul‟s sister has a son Sonu and daughter Rita. Raja is the 

maternal uncle of Sonu: 

12. How is Amit related to Sonu? 
(A) Nephew   (B) Cousin (brother) 

 (C ) Uncle    (D) Father 

13. How is Rita related to Raja? 

(A) Sister    (B) Daughter 

(C ) Niece    (D) Mother 

14. How may nephews does Raja have?  
(A) 1    (B) 2 

(C ) 3    (D) 0 

 

Proficiency in English Language 
 

15. From the given options, choose the correct form of idiom. 

(A) To eat humble pie  (B) To eat a humble pie                                            

(C)         To eat an humble pie (D) To eat one humble pie 

 
16. The Synonym of Executioner is 

 (A) Manager   (B) Executive 

 (C) Hangman   (D) Judge 

 

17. The correct antonym of Huge is  
 (A) Tiny    (B) Brittle 

 (C) Insignificant   (D) Little 

 

18. „extempore‟ means: 

(A) Without previous preparation (B) An extreme step 

(C ) Bad temper   (D) Speaking with some aid 
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Ques.: 15, 16, 17, 18 as in sample question paper in English medium. 
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bI. ey. /bI. kom AYl. AYl. bI (Awnrz) pMj swlw (integrated) kors dI dwKlw pRIiKAw 

bI. ey. AYl. AYl. bI (Awnrz)/bI.kom AYl. AYl. bI (Awnrz) pMj swlw kors dy dwKly leI 50% mYirt 
10+2 dI pRIiKAw ivcooO pRwpq kIqy AMkW ‘qy ADwirq hovygI qy bwkI dI 50 pRqISq pMjwb XUnIvristI vlO 
leI jwx vwlI sWJI dwKlw pRIiKAw (CET) 2022 ivcoN hwsl kIqy gey AMkW ‘qy AwDwirq hovygI[ prcy iv`c 
ie`k-ie`k AMk dy kul 100 pRSn hoxgy[AMkW dI vMf inmnilKq qrqIb Anuswr hovygI:  

  sDwrn igAwn (General Knowledge) Aqy   - 60 pRSn  
clMq msilAW dI prK sMbMDI  

  kwnUMn pRqI rucI- prKx sMbMDI      - 20 pRSn 
  mwnisk Xogqw dI prK sMbMDI      - 10 pRSn 

  AMgryzI BwSw dI muhwrq sMbMDI      - 10 pRSn 
hryk glq auqr dy 25 pRqISq AMk k`t ley jwxgy  prcy dw kul smW 90 iNMmt hovygw  
 

sYNpl pypr  

     swDwrn / swmwnX igAwn (G.K.) Aqy clMq msly 

     1. gurUqw iK`c dw isDWq Kojx vwlw 

 (a)    inaUtn   (A)  AYfIsn 
 (e)    mYfm ikaUrI       (s)  AwrkIsIfIz 
 
     2. nyqrhIxW leI CpweI bnwaux vwlw: 

 (a)   bYNjimn PrYNklIn    (A)  lUeIs bryl  
 (e)   sI. vI.rmn          (s)   jgdIS cMdr bos 
 
     3. Bwrq dI AwzwdI pRwpqI leI kIqw igAw pihlw ivdroh ijs nMU &OjI bgwvq   

(Sepoy Mutiny) vI ikhw jWdw hY ikhVy swl iv`c hoieAw [ 

 (a)  1848   (A)   1857 
 (e)  1757     (s)   1856 
 
     4. Bwrq dw auh pRWq d`so ijs dI srhd̀ sB qoN vDyry rwjW nwl l`gdI hYN:    

 (a)  m`D pRdyS   (A)    rwjsQwn  
(e)  auqr pRdyS      (s)    ibhwr 
 
 

     5. hyT iliKAW iv`coN ikhVw kyNdrI Swsq pRdyS (Union Territory) nhIN hY: 

(a)  lkSdIp         (A)    mnIpur 
 (e)  id`lI             (s)     cMfIgVH 
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  6. eyfz qoN Bwv hYN: 

(a) srv BwrtrW dI sBw   
(A) SrIr dI rogW nwl lVn dI qwkq dw Kqm hoxw    
(e) AMqrrwStrI bImwrIAW sMbMDI sBw  
(s) srv BwrqI  fYNtl suswietI  
 

     7. XU. AYn. E dw mu`K dPqr ikhVy Sihr ivc̀ hY? 

(a)   rom                    (A)  nvIN id`lI 
        (e)   pYirs                  (s)   inaUXwrk   
 
     8. pwnIpq dI pihlI lVweI ikhdy ivckwr lVI geI : 

(a) bwbr Aqy iebrwhIm loDI   (A) hmwXUM Aqy SyrSwh sUrI  

(e) Akbr Aqy hmwXUM   (s) AlwaudIn iKljI Aqy muhMmd quglk 

kwnUMn pRqI rucI sMbMDI pRSn 

     9. AYPIfYivt leI shI pd cuxo : 

 (a) srtIi&kyt/prmwxpq̀r  
(A) kwnUMnI sbUq vjo dwier kIqw igAw hl&IAw ibAwn  
(e) AMk prcw  
(s) jmwnq leI idqI geI ArzI 
 

     10.kort mwrSl leI shI pd cxo : 

(a) &OjI Adwlq ij`Qy &ojI kwnUMn ADIn mukdmy dI suxvweI kIqI jWdI hY[  
(A) styt Adwlq  
(e) ivAwh sMbMDI JgiVHAW dw inptwrw krn vwlI Adwlq  
(s) kYd dI szw 
 

     11.komw (coma) leI ikhVy TIk pd dI vrqON krnI shI hY : 
 (a) ^q ilKx ivc huMdI ies dI vrqoN  

(A) ies pd dI vrqoN vwk dy do BwgW nUM v`K krn vyly kIqI  jwdI hY[ 
 (e) pUrn byhoSI dI hwlq 
 (S) mn dI auKVI hoeI hwlq 
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mwnisk Xogqw dI prK sMbMDI 

pRSn nM. 12 qoN 14 dw auqr dyx leI hyT ilKIAW hdwieqW nUM iDAwn nwl pVoH[ 

Aimq rwhul dw muMfw hY[ rwhul dI BYx swirkw hY[swirkw dw muMfw sonUM qy kuVI rItw hY[ rwjw sonUM dw mwmw 
hY[ 

     12. Aimq sonUM dw kI l`gdw hY? 

 (a) BqIjw   (A) ccyrw/mmyrw Brw 
  (e) AMkl   (s) ipE 
 
     13. rItw, rwjw dI kI l`gdI hY? 

  (a) BYx   (A) kuVI   
(e) BqIjI   (s) mW 
 

     14. rwjw dy ikMny BqIjy hn? 

 (a) 1    (A) 2 
  (e) 3    (s) 0 
 

AMgryzI BwSw dI muhwrq sMbMDI 

Ques.: 15,16,17,18 as in sample question paper in English medium and the Test for 
this portion will be in English Languages. 

 


